SYHL ==wwewma

FmiER
1 BERABRRBERHATREL(Long-StrokeZY)
FERR

ME Lock Valve, Relief Valve, Brid[E, A REFL =7,
{FEBIEIT SR RIFHS

g
o]
3
O
g =SS
o
g SYHL-1246 SYHL-1552 SYHL-1877 SYHL-2091 SYHL-2816
& [mm] 46 52 68,75,77 91 166.5
JEEBER [mm] 125 155 180 205 280
JEEE(TIE [mm] 32 34 40 50 51
SEZEER (Push) [em’] 100 161 198 252 377
SEZEER (Pull) [em’] 89 150 183 234 332
JEZEHES Push [kN(kgf)] 38(3875) 60(6118) 74(7546) 94(9585) 113(11522)
JEZEHES Pull [kN(kgf)] 33(3365) 56(5710) 69(7063) 88(8973) 100(10196)
BRATEES [MPa(kgf/cmd)] 4.0(40.8) 4.0(40.8) 4.0(40.8) 4.0(40.8) 3.3(33.6)
AYFHIRARALLR [min] 7000 6200 4700 3800 2000
TRMEF5E [N - mi(kg - mI)] 0.21(0.022) 0.56(0.058) 0.10(0.098) 1.56(0.160) 35.5(3.31)
12.8 17 26.8 34.1 101
2 Leak = [¢/min] 3 39 4.2 45 84
KITAGAWA® Model S-1246L S-1552L S-1875L $-2091L S-2816L
X AR AFORUSIER . RIS ATREREAMSEMELE,
X HHESAE SHER,
¥ _ERIURIRGI T R, RIS AR
% 2 Leak 297K [ES7 3.0MPa, JHA 50° B2,
4-Q1 W U \
R1 A1 B1 z T
¢ dus BiSTRoKE T Vi Lt
P1
//
‘ 7
] T S Y s
~ | 2 ~
z |2 soll=r | x | o u| & 0| o] 5
2025 ol | — (o211 e e e B e
(e} % Tt T 1] ]
. r—
Wi E
7
S E— 6-E1 H
G1 12-F1
K SE]
PT-1
Ji Ji s 33

X SRANSRRYT



SYHL-1246 SYHL-1552 SYHL-1877 SYHL-2091 SYHL-2816
155 190 215 240 325
130 170 190 215 290
100 130 160 180 260
80 85 120 140 240
65 70 95 110 190

M55x2.0 M60x2.0 M85x2.0 M100x2.0 M180x3.0
46 52 77 91 166.5
36 36 36 34 30
529 506 846 996 1746 .
64 73 98 108 188 1_51
85 9% 121 138 22 =
515 57 70 79 120 3
18 137 166 182 282
115 130 160 185 250
205 208 246 273 370
27 29 35 50 51
5 5 5 0 0
57 59 65 75 76
25 25 25 25 25
5 5 5 5 5
15 12 175 21 28
1475 153 1695 188 259
30 30 35 35 45
M6x9 M6x9 M6x9 Méx14 Méx12
M10x20 M10x20 M10x20 M12x24 M16x32
156 162 1825 203 276
08 110 155 165 256
76 86 101 110 162
47 47 47 47 47
15 15 15 15 20
50 55 80 95 170
76 85 108 120 200
4 4 4 4 4
M5x10 Méx12 Méx12 Méx12 Méx12
6 7 7 7 7
PT1/2 PT1/2 PT1/2 PT1/2 PT1/2
12 12 12 12 7
200 220 242 267 352
67 68 74 86 123

M52x1.5 M58x1.5 M84x2.0 M99x2.0 M173x2.0

50 56 81 9 1705




	回转油缸 10
	回转油缸 11

